Max. 84 [3.307]

20.5 [0.807]
|
2 [l ¢ H
g ‘ 1 ‘ N ‘ i
i inie
‘ ,i, T 4-@5.3 [0.209]
(L] ———
E | i | 22 [0.866] =
i ‘ i 26 [1.024]
|
[1=])
5 e #y 16 z T
S ) al T 4.7 [0.185]
2.0 4.4 [90.173] Lapsy 40180 & 16060
M ™ Model Description
i ‘ 70015 M4*78 U-bolt Spindle Accessory
St 1 g 70105 Latch Plate Accessory
T 70020 M4*78-SS U-bolt Spindle Accessory
_J‘_ 7 ‘ 70025 M6*114 U-bolt Spindle Accessory
i H ‘ | 70110 Latch Plate Accessory
i {: A | : %”7[ ' ‘ 70030 M6*114-SS U-bolt Spindle Accessory
1 o N == = ol 70045 M8*154 U-bolt Spindle Accessory
| |esnen || | - wensy 70120 Latch Plate Accessory
| |
‘ :
40120 & 16000

30[1.181]

Holding
Capacity
N (Ibf)
2,250 0.10

Accessories

40180 506.25 0.22 70015, 70105

16060 (stainless steel) 52625205 8 ;(2) 70020, 70105
4,500 0.29

40120 10125 064 70025, 70110

16000 (stainless steel) 146?205 ggg 70030, 70100

40080 9,000 0.70 70045, 70120

2,025 1.54

Model Description

1
1
1
1
1
1
' 70070 Hook Spindle Accessory
1
! 70075 Hook Spindle Accessory
& i i
1 55 [0315] - ‘ E 70080 Hook Spindle Accessory
35 | N N 70050 Hook Spindle Accessory
s O ———1 7 — ) .
3|3 = = i 70145 Hook Spindle Accessory
\T/O \\‘6 4-95.6 [I‘EO 220] E
\ - - 1 2-96.7 [@0.264] 38.1[1.5]
12.7 [0.500] 19)10.748] : PR |
38.1 [1.500] : S o Y : - A [ ,:D 1] 1
| w — 'Lf{lif‘ii;:% R —
1 ~ *
1
1
1
40220 & 16040 !
1 46 [1.811)
: — = \,ﬂ: iy — E
1 o = |
5 = | £ R‘: B 6.35[0.25] ‘ Et\ﬁ gﬁ .
o ' 4
8 \
: 44.7 [1.76] 50812
: Max. 157 [6.181]
H 40160
.................................................... e L e
: 7 __ 4010.3[20.406]
! D
. N
= i 2127 [20.5) [ } M‘ i T —
‘ I —— L ) ST | i
E oo 5\ P ! ! Y irp !
T T 1 4] 8 Janm | L M
Pary & ! ‘
K\J 3816 H fan)
, k\/ €},
I ] .8 [1.252] 1
1 12.7[0.5) 28.6 [1.126]
[1.874] :
s
:
1 Max. 245 [9.646]
40100 :
i
: R8 [R0.315]
1
- — — 1
1\ . k}
.4 [3.126] T ‘5[n,1ml

Max. 195 [7.677]

Holding
Capacity

N (Ibf)

Accessories

1700
40220 3825 0.60 70070
16040 (stainless steel) ;gg 05 gég 70070
1700 0.255
40160 3825 056 70080
3400 0.69
40100 765 150 70050
4500 1.13
40020 10125 2 49 70145




